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Bauwerk  01

Unterführung Geh- und Radweg

Bau-km  0+598

LW = 2.50 m LH ≥ 2.50 m

Bauwerk  02

Überführung Schorner Str.

Bau-km  1+509

LW = 10.00 m LH ≥ 4.80 m

KH = 0.80 m

Bauwerk  03

Wirtschaftsweg

Bau-km  2+456

LW = 4.50 m LH ≥ 4.50 m

Bauwerk  04

Eisenbahnunterführung

Bau-km  2+652

LW = 8.00 m LH ≥ 5.20 m

KH = 1.20 m
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Krümmung

Maßstab: 400/R [cm]
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Querneigung

Maßstab: 10%/cm [cm]

linker Fahrbahnrand

rechter Fahrbahnrand
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Bau-km 0+000 - 2+823

Zeichenerklärung:

km = 1+280.65

hTS = 656.51 m

H = 20000.00 m

T = 290.00 m

f = 2.10 m
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Neigungsbrechpunkt mit

Angabe von:
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Bau-km,

Höhe Tangentenschnittpunkt
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